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2 A student was asked multiply a number by 3/2 but he
- divided that number by 3/2. His result was 10 less
than the correct answer. The number was:
U faendi A fdt S & 312 A un s & Rre wer
T, R 39 SH AW &1 3/2 F UNT ¢ fear | ST

gRoTH 98I SR ¥ 10 B 1T [l ag = A2

§1E10

(3) 15
(4) 20
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=141, 1 1. 1
3S=g+-+o+o+ et

"t 210
S=7

[(1) a9/

(2) 1113
(3) 7113
(4) 13/15
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If 2x + (9/x) = 9 then what is the minimum value of x?2

Ix2) ?
!11% 2x + (9/x) = 9 df x2 + (1/x2) WWWWW

(1)las38l
(2) 97/36
(3) 86/25
(4) 623/27
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If a+ b =4 and ab = -5, then what is the value of a +
b3 =?

gfda+b=43Rab=-5 gdl a3+ b3 BITHAAAD?

(1) 34

iZE 36

(4) 126
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7 Two inlet pipes can fill a cistern in 5 and 6 hours respectively and an outlet |
pipe can empty 24 gallons of water per hour. All the three pipes working
together can fill the empty cistern in 10 hours. What is the capacity (in

allons) of the tank?

%’mﬁtﬂﬁ PHTT: 5 3R 6 U H TP HS U AP g R T pRil
uﬁﬁ%uﬁmﬂaﬂmwm@ﬁeﬂﬂmwﬂgﬁﬁ 102'?%
WA S W IPd 8. P DI &HAT AT H) T 87

(2) 180
(3) 60
(4) 120
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8 What is the least number which when divided by the
number 3, 5, 6, 8, 10 and 12 leaves in each case a
remainder 2 but when divided by 22 leaves no
remainder?

DI A DI T T & ) 59 & 3, 5,6, 8,10 3N 12

faurforg Ftemed Avwa 2, AfeA oT 22 9 favifoE
DI WY A AMBAT T 2 (1) 312

[(2) 242

(3) 1562 |
(4) 1586 |
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9 Price of diesel increased from Rs. 45/litre to 50/litre. How
much should the consumption of diesel be reduced (in %) so

as to increase expenditure by only 5%?

SIS B B 45 = Ufd AT A T¢HY 50 FUfd Al I 8
SioTd & Wud oI fea-1 s wfa=ra #) frar s f g &ae 5

Ufa=Id d gl de?

()53

(2) 5
(3)5
(4) 4.5
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10 After giving 20% discount on an article there is a profit of
20%. What will be the profit percentage when number
discount is given?

%mw 20 Yfar=Id @t @e &1 & a1¢ Y 20 ufa=a srary

21 e A R fpa ufa=a sy g

(1) 40
(2) 44

i3§ 54
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25

If coscec20=— and 0 is acute then what is the value of

16

(Vcot6 + tand)

Ul coscec20== YN o FABII ¢l (vVcoro + tano) ﬂfﬂi_ﬁ
2

AT 87
@57

(3) =

v3 |
(4) =7
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1 cos* 0 —sint0 = =

2 2cos20-1=?
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3 radius 5 cm are 6 cm and 8 cm in the same side
of the centre. The distance between them is

5 Q! o1 919 U g B &) GHiaR Sharsii &1
WdTs Bg 31 TP gl ez & 6 Ot 3Nk 8 UL 21

s AP
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AABC is similar to A PQR length of AB is 18 cm and length of the

corresponding side PQ is 12 cm, if area of A ABC is 324 sq cm, What is the :
area of A PQR% 2 Ap e PN . -
AABCUHFUR APQR § AB ®} didls 18 S HITd Yol PQ DY |
Eﬁ 12 T 71 3¢ A ABC BT &A% 324 T HH 8, dF A PQR FT &FBw WA

I

(1)[7Zsqcm |
(2) 144 sqg cm
(3) 36 sgcm
(4) 487.5 sq cm
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1 The average weight of Shivshankar, Gopesh and Rena is 97
5 kg. If the average weight of Shivshankar and Gopesh is 93kg
and that of Gopesh and Reena is 82 kg. then the weight of

Gopesh is

Raziex, Muw R A1 o1 3l d a1 97 fraumm g afe
Rra=ie iR MU &1 93, MU 3R HAT 1 3NAd awi 82 fpat

2 A PraTo fPaTe? (1) 72
[2) 56]

(3) 59
(4) 63

https://t.me/MathbySuryaveersir |




' : SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES ':

1 The entry ticket at a fun park was increased in the ratio 7 : 9, due to which :
footfalls fell in the ratio 13 : 11. What is the new daily collection (in Rs), If |
6 the daily collection before the price hike was Rs. 2275007? -
frdt w1 urdh & Tl fepre S gea H 7:9 & 3UTd H 33 3 oIS FRUTUTES! |
PIESH 13:11 & T | B! 3115 | ufafe 811 arar Tar saa=e d) |
fraT g afe Biua 9¢1 & ygd ufafe 227500 FUUI ST HFARFTATAUT? |

(1)237500

(2) 247500
(3) 232500
(4) 242500
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1 The difference between simple and compound interests compounded
7 annually on a certain sum of money for 2 years at 4% per annum is Rs.
144. The sum is

ggﬁtrfémwﬁrﬁ 2 g1 & fere 4 yfowra aiffes o3 9 aiffes vy A waifoE

qrel ATYROT TS 3R ST 3aX 144 .8 1 AR -2

(1) 18000

(2)

(3) 90000
(4) 270000
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A is thrice as good a workman as B. C alone takes 48 days to paint a
house. All three A, B and C working together take 16 days to paint the
house. It will take how many days for B alone to paint the house?
A, Baﬁ H 9 T ST I CAPN TP THRPITTHIHASP
I PTHAI AT 8 | TP HIY PHPIA Y B 3R C STRBIUT
ﬁ 16 fe7 @ §1 SH R Pl U= HA & T 3dbat B Y fba e el

(1) 32

iZE 64

(4) 72
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1 find the mean, mode ,and median ,for the

9 foIIowmg data/qTd HY HTE Agu®, aforeT

13,18,13,14,13,16,14,21,13
1{5.13,14 |

2)15,14,14
3)12,13,15
4112,14,13
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| e, :I
s A1
I'.. - Ill'
,

T2 7T
0 E radian is equal to@?ﬂ’q-IITq T B 2

[N105_]
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